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Paper II mark scheme 

1. s�l\l6zm c�� r.,c;u» 9&•E>m 'fE>oms o� c.oc)uf �8 t'ft'i �tn.
2. m•I,.,� �':� 6as,<j,-, �':" ca,R (/) ��?.""" ��,:.-,., trl?SI 
3. t--- A Stez-! �asfE>lric,z-/, 'l<?G 'f8zs,Sr.,c> c�� �"' wlasfc,asf, A��� ZS')$ oS&asf aoa. 
4. Sc) qasf•6 6ZS')»or., c,�• CJZS'):1cezm2:s1 sgl\ld't ZS')� zm6 �zs,. Sc) qlld•6 l)ISU)Gr., �•c.,asf "'ID co8e> -Cc
�zm qasf•6c.,asf E>t�E> c,'tO/ q�O c,.'tO/ �� qE>td63 c,u,:J E>t6� 02:s1 qE>cd63S. 
5. c,�E>ZS') 9«Sts> e,�� c�� 0raae (rounding off), qE>cms, c��E>e �.,l\loa �®•asf as,e al\l"'·

1. (i) 
Wri� down two other pieces of information that should be stored fora patient's [2) app mtm�t. 

�ZS')C., 

��o I =:1c 06:10.,c.o I �c"' I 7:G);)cEJctd�"' 

6 � !c. ,im .. b 6vV> �6z.. ?it>'J 

� "'W SUW 6:1 j_ ;:)J -f'w � "'2_oS
l..:l">Q w ,, 

(ii) (a) I Write down the label of th� port to connect� project�r with a VGA <;able I

A 

_.(b) I Write down the label of Ute port to connect a USB flash drive. ! 

D 

(iii) (a) I QQnvert 6310 to its o�tal equivalent. !

7 - 7 

0 • 7 

77 

(,11 

[1]



(b) ' Convert 6310 to its hexadecimal equivalent. '
ilj 

0- 3 -->3 
[ l 

3F 

* F 0('.!�c0cJ q:m•6 cttd�c., 02n3e.,C?1S1zf2Sl.
* c,3�c., �ti® qm�E>on, 02SlJc,0, 

F &... �� c"""' c:i c::z_ Y> .,, . 

�bt -zr, �cs� -:i:;;�/"")'�

�� ??1, 

* , El®c., qE)i»» 021>J0D.

{iv) {a) I Out of AND and OR gates, what is A? I 

OR 

(b) I Write down the boolean expression for C. I

C,U)ZS) �12m0E>2n c1DJE32l'! �21Slim:
C=X.Y
C=XY
X.Y
XY 

(v) j Write down the rnplacP.ments for I,JI,III and IV choosing from thP. list. I

�?ISl?ISID C�4e 0.5 @ia3zf: 
I: BIOS 

Il:OS 
111:WP 
IV:OS 

OS Rt.p�cJ- ,vcJ Q01..>9

1�-h c.�b Rc.p�c..+ 

L� No IN\0vtlcs 

2. 6 'U)� 0 e/4" 

(1] 

[1] 

[2] 

T .ciSrtZ\10D c@J � qi� @znt® c,�c.,:m "''i"'zf ZG'l6 qi� E>,6 <D2Sl2n �:m®OJ �"'J qi�l,c:> - c�� 
0 

* q:m•6 0td�c., cow q�6t qm6 -&isf <3'2S)Jt.,c21nzf2Sl. 



(vi)
Write down the labels of the formatting options that have been used for the
sentence formatting.

OZlllmD c�� o.5 n>rdhsi: 
P Q R S 

':}<2 T wzs,oc) Di� e:tCnlC 8c.,) 'tl� �o - C�� 0 
* (f 2m ¥ o <:tto � c., e:tZ))t.oC ZIil z-i 2S).

s�(j)ZS)lj)l� �zs,ce,c.,z-i: 
1 Z1�io§D qS�Z) gz�® 

[2) 

2 (f�otDc g&�c-,(font size) Di� �8® (�cg,c �8®), zs,�e,iwi <niz-il'® (bold), 'tlC �8®
(itahc), c-,8z-? q;o2m 'tl�® (underline) (f)� 0cco E>El2S)@c.,2S'l' 8l'® 

-

(vii) (a)

(b) 

Write down the label of the slide layout that can be used to contain title, 
some text bullets and an image. 

C 

Write down one good characteristic w.r.t.the maximum number of text lines 
that should be placed on a slide. 

✓c.� 42�� 
J E- 9J �16 

k-7 �
s,i;,, 1 ,�1/ 

[1] 

[1] 

NOTE: In the text book, the maximum number of text lines on a slide is recommended 
to be within the range 6-9. However, 5 is also accepted in some references.

(viii) I Write down the replacements for P and Q of the flowchart. I [2] 

P=O 

0 and 5 I O cow 5 
0,5 

Q=5 



(
. 

) 
1 Why is it important tv get cleur/exaot custvmer requirements befvre leaving the 1IX first slep of the waterfall mot.le!? [2] 

�c.., tft� �21ilaz§i0d�, aca, Sc..,06 (fJ6®to isl8®c:> 0c,cS c)an 8c..,OcSan c.,®9.!S6 lS)C �z:..i00. 0®0cc., 
c,<;@z§!0d c.,o0.!Sw2S) 2Gl0�z:..i c,06®11> isl8®c) 0c,cS CfOCO»:ISlJ lOS2S)J (l)t�® t.0®sti-t1u ?.S>C �z:..i00. 
eJet.! 02S)J�OeinHsf. �2S)0orn c,1.wtlc.,?.Si M•Oc!Si:l25)c., �ee lf0�,25l® e.,in e,�0 c:,c., eO:s-,t.! �8®c:> 
(f�lGl ®c21n �i8® s�oin (ft:ISl.

t,lOZS> �i21n002S'l c10JSzi !>lS1t® c)?.S>?.S>c:l C2112� 2an: 

• �c.., tft� (fJ215laz§iecJ�, aca, Sc.,06 (fJO®lO isl8®c) ee,o C:,?.Si 8c..,Ooan M®gc!S6 llSlC �z:..ic.., /
�"'tft� (fJ2Slai§iec&� e,.o�am c,<fwi§ic., qOe,o2n (f�c..,0.!S� c,®-tli>21n c,.821n¥J isl8®c:> iotislc..,,O
c,tO�®

• Oto� (fOco:i,lSlo c.,900 tft?Sl'2n® "<;wlSlc.., 002S)et is\8® <1,>mo ®c q�2S) �®

(x) I Draw the ex--pected output of the given HTML code fragment. I

:::�--) 
�csh") �s L

:f/tVA Cc,.p/1-...l 

���):> t,10 y,iQ,1 (CS

-;>JITML 
is a markup language 

-Java
ls a prognumntng language 

-'2,_sQi 
is a query.language 

t5lOZS> q�82S'l' C21'12� 0�2S'J'2S). 

A: "6§l faa,C @�llSl - C2112� 1 
B: em02S) �o,cc.., - C2112� 1 (+-- A) 

y q�ec�Z')c.., (indentation) qm»Oco» efl. 

L 
l 

* "HTML",' 'Java" C.,l)) "SQL" WtO, <1,>t3�C,J�Oc 9� g!:ii•o esl'• 02S)JMCZS'Jzi2S'l.

[2]



2. (i) Write down a formula for N3 to display the 12-year increase for Australia.

= :tvf3 - B3 

• 0-"/S\1&6 ta82n M1<'JO�M 5c., ��'"·
* �?m•6 etd�c., e2S),e.,C2:S'lz-i2S).
* + M3 - B3 � Bgcn?Sl t0i2:Sl. 

* = SUM(M3, -B3) � Bgcnzs, t0t2:S'l. 

(ii) I Write down the formula that will be in cell N12. l

= M12 - B12 

T @?:SJ!¥ �825) e,,eo?m¥ Ve., 9t\l'4.
* lf?d1to etd�c., e2n,e.,cl:IS)Z'f2n. 

[2] 

[2] 

* 1>t0ZS> (i) e,r;im d3•»c.,;,ea,' Sgts.10 =SUM(M3, -B3) 2S>� =SUM(Ml2, -B 12) � Sgcnzs, t01l:IS). 

(iii) (a) j Write down the formula required in cell 015 to display the lowest ipcre�e �lue. I [1]

=MIN(03:014)

(b) j Write down the formula required in cell 016 to display the highest increase value. I [1]

=MAX(03:014)

T @?:SJ!¥ �82S'l e.,,ed1m• Ve., 92:12"'•
* lf?mltO etd�c., e2S'l,e.,C2:S'lz-i2S'l.

� $ ,::Sce,.e--1'-'> ��

' �,e_ �� <t.Kb 1,,,J:;l1l.., @�� � 



(iv} I \•\irite down the correct formuia that nee<ls to be entered i11 cell Pa tor correct copying. I i2j 

(v) 

= (03/0$16)*100 

= (03/$0$16)*100 

From line and pie charts, which is more suitable to compare the changes 
of solar power generation of those countries during 2010-2021? Justify answer. 

{2] 

eo:,c:h6&21i)6�c.,: ?:1Sl�6hc.,e �tBoc.,as, 021Sl® �c S®:>Di:m Z\!6 G'DZ)d !)I!> eo0cozi1t2nc., �6®c> 
9b9 et��:, 9d0:>6S. co®c!25>c.,21S) etsi:,Dd eo�eoZ'iliZ)c., �6®D e,e DD 9do:,6S. 

A: e��:, 9do:,6 - e�� l 
B: co:,w:i6&25)6�"' (tHo2Sl 1!1D:>Szi �21Sl2m)- c�� 1 

• . 2S>-«li!E::1Jc.,e �tBoc.,ts> ozs,® tsi:>e, S�hDi:m Z\!6 •
002nd !')� CO•�zi'i�� ;eB'®c> sss <!'�cYJ 9d0:>68. / /iffl25> tsic>c>c �i80c.,2m co0cozi<;2n'-' 
�5®8 ese e��J 9c!0:>0S. 

• 25):>0'-' co®co eD2ne!E>2n 'iffl25> �co»ts>6�c.,c) Sb9 e�@:, 9c!0:>08.
• co®dmc.,tsi etsi:,c>d co0cozi'i2S)C., �5®8 sse DD 9d�oa. 
• D8 9rto:>6 �d30c.,�® ttt�®8 Ssl)®

e®tB coie.,�®c> 06:>eo �ioc.,2:Gi trim (6c>Dc! 12 mi co�im Dco6 1225i ). �@i!}zi e��J 9c!0:>o 
u,:,l,25>�zj <,mDd 12 o q�e Dco6121B co1® tfCOC.,?.Sio® Ots>® 9�0:>60cj e�� 12 2llf 9<;�ai2nc:., 
ts>G Wt�'-' - Z)�is/, 680C 12 c) q�e Dco6 12 lB Sc.,�® qr.oc.,zi 9<;�co2nc., �5®c> �� 25>� 08 
9do:,6c.,i:m qi�c.., 02S)JU>t?.5l, 
08® 9cd2nco ®@zi "2010-2021 ?.5lJCc., �6 e®® ec>Dc ��c., @eco�� osi0:>ii21)"'" r.oi:2:1) 
B®co2n @D coe?.5lzi2n. 0?.5lec! eD25>isi, �c., 0� �eoii25l 6c)� °'t2n qco2n C<; 9cd2nc.,� 2n® 
(C<;:>: �de-g�c.,:,E) t.)(iU):> q�6lb 12 qcoc.,zi), o!}c) D8 9c!O:,OC., 06:>:>isi 9b9 @'D. 



3. (i) (a) I Write down the primary k�y of the Borrowed Items table. /

ItemID + StudentID + BorrowedDateTime

• 2flc.;,�zs, <fzm1to fl2S1»Je.,c., goomstE> .
• q.®ISlO zmc,t/� 8c.,J gtzsiz,® CZ!P� Zl11&...
* 

.-
"+" 001i)Dc> "and" cttD:l "C.,!011 01t>l egans, !012115).

* q.zm1to 0td� (case) e.,w 'il6) (space) 0¥• 02S1Jt.oe21S)z-/2n.

(b) I Write down the foreign key(s) of the Borrowed Items table. /

(ii) (a)

ltemID
StudentlD

• lfic-,�m q.zm•6 �2S1»Je.,c., q.OG)»ct!>.
• q.®mo zm0tl� �c-,3 q.i_zsim® CZl'il� mi�-
* q.zm1to 0td� (case) e.,w 'i'6l (space) 0�:l• 0.:s,Jr.oe21S)z-/z,.

Which tables need to be updated when the school decides to
allow students to borrow Tennis rackets?

Item

• ;:flc-,c!hsi q.zmeto �2S)))JC.,C., q.O<s>»0D.
• q.®mo OOJ 8"'J q.i_zsiz,® eZl'il� Z>im.
* q.dt16 0tdt; (case) e.,w igal (space) e�:!¥ 0z,Je.,e2t,)z-lz,.

'1-t£1,.,\ -+ oJ, le .\"'"b� �e_ 1---i.&L -v(_b.f 2'""� uL�-

Which tables need to be updated when Shane borrows a Tennis racket on
(b) 1 �0/04/2023? _ •

Borrowed_Items

• �c.,�m q.zm110 flz,»Je.,c., e.,®co c.,8 'i)O (underscore) q.O<s>»eD.
• q.®2:S>o Q<o•8c-,3 q.i_zsi2SJ® CZl'il� Z>tlSl.
* q.im'1t6 0td� (case) c.,io 'il6) (space) 04:l• e2S>Jc.,e�Z'f2S;·

[2] 

[2] 

(l] 

[l]



(iii) 

(iv) 

Raj (S150) joins schuul (for Grade 10) and i.; selected for Cricket team on 25/04/2023.
He borrows a cricket bat (005) on the same day at 14:00:05 hrs. [2] 
Write down the new records to he added.

Student➔ (S150, Raj, 10) 
� .$ �v-£'�t 

Borrowed_Items ➔ (005, S150, 25/04/2023 14:00:05) N Ul,..L 

1', "f �c.,�lSl qzi¥6 l,2S'>»Jtoc., qDCQ»@D. �+,
rY)

"f �®2!>) 6 fJ(SJ/ @6 e-·;:;,-Jo) �c.,J qi ?Sf 2S"l I!> C � .f.fi Zlt 2Sl. BA,..,..., ,:;y·)
* qziv6 e-to<; (case) c.,w 'i)fil (space)@�¥ @2S')JC.,�zs,2rlZl.
* D<SJe-DtB �11S)J6c.,c> e-6011S):/o) 8c.,J 'tl�C,® <; Sgo,2Sl lilt�"'-

� 'Y)c:-/e) , @:-f�1 @!fe:J '>\.

trl><e>� •. £-o 

Which tables need to be joined to find the names of students who borrowed sports items [2]
on 05/04/2Q23? The type of item borrowed must also be shown.

Borrowed_ltems 

Item 

student 

* �� qw¥6 l,:5)»J� �¥ .. @:5))�e�2rl,:S'). 

*(f2m¥6 @to<; (case) c.,li) t»o:> (space)@¥¥ @2S')Jc.,e211)2S°/2S').



(.) 
Write down the most suitable tramportation modes (bus, van or bicycl�) for Sithara, [2]4. 1 Ganesh, Saleem and Nimal. 

B"",o-.: @rl 
o,�?SieJ: @� 
c.,�® : C,JC.,1e E>1?Si IE>1?Si 
Z1®C : @SS21Sle 

Write a pseudocode to input the required data for a student (total distance (TD), 
(ii) distance to bus stop [D], monthly van fare [VF] and monthly bus fare (BF]) 

and to output the suitable transport mode for him/her. 

ALTERNATIVE 1: 

BEGIN 

ENO 

INPUT TD, D; VF; BF 
IF TO<= 5 THEN 

DISPLAY "blcycle" 
ELSE. 

IF TD<= -15 THEN 
IF D < 1 THEN 

DISPLAY "bus 11

ELSE 
DISPLAY "school van" 

ENDIF 
ELSE 

IF VF< 2*BF THEN 
DISPLAY "school van" 

ELSE 
DISPLAY "bus" 

ENDIF 

ENDIF 

ENDIF 

[8]



�)C 6-l= 
.:i.�BF 

:i.. (Bf) 
�8f 

ALTERNATIVE 2: 

BEGIN 
INPUT TD, D, VF, BF 

DISPLAY 0bt.cycle" 
ENOIF 

IF 5 <TD<= 15 THEN 
IF D < 1 THEN

DISPLAY "bus" 
ELSE 

DISPLAY "school van" 
�NOIF 

ENDIF 

IF TD> 15 THEN 

ENO 

IF VF< 2*BF THEN 
DISPLAY "sGhoot van" 

ELSE 
DISPLAY "bus"'

ENOIF 
ENOIF 

ALTERNATIVE 3: 

j�� 
9. ' I 

INPUT TO., 0, VF, BF s: ·-f LG WY) -,@><>YI\ 

IF TD<= 5 THEN 
DISPLAY "bicycle• 

EHOlF 

IF (5 <TD<= 15) and (D < 1) THEN 
DISPLAY "bus" 

ENOIF 

IF (5 <TD<= 15) and (D >= 1) THEN 
l>ISPLAY "s,hool van" 

ENOIF 

� IF (TO > 15) a.nd (VF < 2*BF) THEN 
DISPLAY "school van" 

END 

ENOIF 

IF (TD> 15) and (VF>= 2*BF) THEN 
DISPLAY "bus" 

ENDIF 

1 - A rJr;g.,,/ svJ

I - 8 T.,,p--1-� ,£o
G-. 

o,v,cl \ <l-14"")
"I/) <i; asJ. 'V) � 

o5'., ou+r,4 
N)'b -M 

@'v, 

\.+ - �-� r!�J�...\...,_ �---
Ct. -)) ��V) � >'.) 

a.,,& 1: r=- s <£ Y.:>
tx.,,clh,+o..-tlG"vi .:(le�

1°t1 f N ??L� val' .,J � � 



ALTERNATIVE 4: 

BEGIN 
INPUT TD, D, VF, BF 
IF (TD<= 5) THEN 

i-iod4= = •• a i.LyC Lt: •
ELSE IF (TO <=-15) THEN 

IF (D < 1) THEN 
Mode= "Bus" 

ELSE 
Mode = "School van" 

---- ENDIF 
·ELSE

IF (VF< 2*BF) THEN 
Mode= "School van" 

ELSE 
Hod "Bus" . e = 

ENDIF 
ENDIF 

ENDIF 
DISPLAY Mode 

ENO 

c,u,2:S) qs62rl e2G;l� 0�2ri2n. 

A: BEGIN/END - C2G;l� 1 
B: input TD, D, VF, BF - e�� 1 
C: JfTD s:; 5 then display "bicycle" - e�� 1 
D: If 5 < TD s:; 15 and D < 1 then display ''bus" - c�� 1 
E: If 5 < TD s:; 15 and D � l then display "school van" - c�� I 
F: lfTD > 15 and VF< 2*BF then display "school van" - c�� 1 
G: IfTD > 15 and VF� 2*BF then display "bus" - c�� I 
H: e.,����z;)JD: - CZ\l� I ( <· - - A 88 G .§\ili6� �0) 

• 2fiDi6� lf��r!�Z'l"' (Indentation)

•. <nice�2n ENDIF
• t.1?>-i� (strings) quotes�€�®
• THEN tmV?5>c.,

* sgmZSlwi� c,�"'J"' c,�:
• BEGIN: Start
• INPUT: Read, Get, Take, Obtain
• DISPLAY: Output, Show
• END: Stop

c;;to?S) d&:io c.,®JZ) 8°toe c,�� Sgw2S1 toi�-
* qim1t6 0td�c., 02nJCo.'IC25l2512n. 

* a� qim•o V2n))JC., 0� .. 02nJt.,C25'12rl2:n. 



� (i) m:�:i:::--::i:::::::::==::-;-,-;:--;-;,:c---::::---:-'.'":""""."':----------,,----,--.,----, iJ, Match the descriptions iaLelied P - S witL the correct terms from the ust.

�111>1l!lu Cll\l� 0.5 @r<B2r!: 
P➔HTIP 

Q➔URL 

R ➔ 11' �8Zl(.) / IP address 
S ➔SMTP 

[2] 

(ii) Choosing from the list, write down the correct example suitable for each of the labelled [2)items A to G. 

A ➔ OlSt:> c,gco' / WordPress 
B ➔ .lk/lk 

C ➔ C'?(.)lSc,=zmrl /Firefox 
D ➔ 11200c' /Google 
E ➔ ci�E>lS If witter 
F ➔ IaaS 
G➔PHP 

a,!:ll® 2flOr6� Zll! - Cll\l� 2
a,(.)2m 2fl0td� 2S'le - Cll\l� 1.5 

1_:-5 an 2flOr6� Zll! - Cll\l.f.a I
2 - 3 an 2fl0r6� Zll! - Cll\l� 0.5 

l ✓ �£" �� m.)?.
* lfan•d c,llf�(.) c,2S')Jt.,C1l!l21"iZ'l.



{iii) 
Write down label numbtir and the currtl8ponding HTML tug whid1 is tu be chosen 
from the list. 

c)21S)21S)c) e�� o.s cwi<B2ff: 

1 - head / 

� -hl / 

3 -p ✓ 

4 -h2 ✓ 

5 -ul i-

6 - Ii -1,. 

7 -table/ 

8 - tr y. 

9 - th ./ 

10 - td f 

11 - rowspan / 

12 -a 
./ 

[6]



6. (i)
1 Explain the n:u:;011 why vectvr filll:. artl inlHtl suitable than ra:,l1:11 filt::. Lv :.lu11:1

images like institution logos that frequently need resizing. [31 

OJric>ts @J821Sl 8:isfe.,e Da'lS'! c.,1� (t{ZSl, e� q�D c)® @J8zis, l:>!!t<d1t!!tr..,'lS'i ()CQJC zis,62S) t>c>, 
8:isfc.,e @J821Slr.., !!tZ'JJC,itoi�8 ZSld�'lS'i l)(l)oC g!!t<(l)r..,as{ 90, !)s3!!t<. 0Dasfc>ts @,8zis, 8:isfeoc! 
toJ6is,J eZ'JJ21Sl68. t!tD, a!!) c)21Sl21Sl c.,'C,JDO �-�•» toJt>mer..,'lS'i a,&is,®r.., c.:i�21Sl66., eoau @lf>-f 
D!) C!ttscYJ c)ZIS)c) OZ:5lz:i2 !)e®'lS'i t30'®J6,<..) asi6 (t{l:S>, ot3z-i q�ioc.,' Oz-i0z-i �-«JoJZSl°®zis,imOc., .:11{2)1 
e2nJC, 8'lS'i2!5ld l)(l)Jc ( 011>:J 2112en) zne wii:6l @DB. e®eceo t3ZS>o g®:>6.r.., !!tDZ'Jri i:6l6®0 qD(I)» 
Dis, 8'lS'i2!5l6 c.,�toJ e-Dasfc>ts eoma Dend 8$8 !!tD. 

A: o,c.,'c)ts @J821Sl Szmc.,c D8'lS'i C.,1� lfl!S> - C21\l� I
B: c)£>t2fl @J8wr..,zm l)(l)OC tn6 l>c>, 82mc.,� �� DZ'J (fl:S>O �,8wr.., e2n,c,iw&a:_ !!tE> - Ca->;!.f.a l 
C: eDasfc>ts @J8wr..,asf m&m®r.., e.,�zis,66. / ets@J ID!) c)!ll)c) c)!ll)252�e®'lS'i 2fttJ®:,6.r.., 215ld (t{� 2flc.,o 

e®® mic>C,D (t{� eZ'Joe-D :-; Ca->;!� l 

(ii) ( ) Explain how you would use the interface options selecting from those labeled A-F [2] a to remove the two silent portions at the beginning and the end of song. 

(b) 

D asf82m 215ld, m@J mZS> �252 e215lJc>c., el:S>'ldJ ��&si 21$16zs:,'m. 

c,toZS> �iasfeDin c,6� e2112� 86ir,®'lS'iin. 
A: mew mm �ti! e?ll>Jc>c., em:/dJ mi2fl® - C21\l"5 I 
B: E asf82m i:6l6® - C21\l� 1 (t--- A) 

Y A, D c.,to E totd !!tDZ'ld (f®ZS>o ecc)c �c.,, iie@ in�, q�� C21\l& c@J e2me<;2S°f2Sl. 
Y Sgtllo c.,�w, D c.,u, E �!)® o®-6.zm g®J6.Dd e2no!!tE>. 
* ec@cDc tf2m¥0 <!'io�c., 02nJCOC2.S'>'lfl2n.
* D c.,to E ec@cDc q8w2n (t{�® � Sg(l)m toii:6lr..,.

Write down the label of the interface option that you will use to play your 
modified file. 

B 

[1]



(iii) (a)
What is the importance of the timeline stage in the Windows Movie-maker

interface? [1] 

Windows Movie-maker �cg» coz-!c:n6 COt�®u to:>�?S» ?.5>(; tOt?:S>, ��®l&c., co�toJ ec.,J�0>2IJ 
CcilZ'l t,�ec.,:/ ��(gZ), 6tc, 6J�, CO•!PZ'f�, ®Jma?:SIJ e.,w !90» e.,z-/c:n6, �COOZ) 8�ct0�c:> 
ec,2110� c@z-!e211 e®® q%\16t ��&?Sf 15lJC �6 e-D�?:S>J@Dc.,. c® �1 c,86Sc2S1c.,Jc:> 21r1,c 
�6 0'b�?:S>J0 to6t0, c,t0�eE>211 t,JCZ)"' 21i'l(; t0t?:S1, 

COUtOZ): 
t,t02S> ?:S>6t& �izm0D 2Sle, (f�S C�& 882S)®z-/2Sl: 

(b) I List three features that you could add to your video through the software. I [3] 

C,tO!S) 15l6t� qzs:,82rl Z\12S)2m C,)�tO) C,)�t0, c�� 1 @t@z-r: 
• @3821S) / 6tc, / images
• w� (ehZ5lam>,, %\1� 8��) / text (titles, credits)
• co•�Jz-/� I transitions
• (flol�Z) / narrations
• e,o@zs,c.,z-/ / i90» ct�� / !90» c,96i I music / audio files / audio clips
• �<Q» 6•ea>lc,!}® I visual effects
• tJ�ctu)-J ct�� I t,�ec.,-J "SOt I video files/ video clips (8�0,1S> t0{2.1Sl.]



7. (i) I Match descriptions labeiicd A-D with the correct terms from the hst. j

(ii) 

(iii) 

Do you agree to discard Sunil's computer and buy a new one as the existing computer [4]has become slow? Explain. 

Sgcotsl wit\ 0toz:\1Dtsl 02S):>®iz§3D e,8©�?:S>c., <»Dtsl 'tl�® 2S):,(tz§3c.,zsf E)2S) tf2S>6 c!)c., !)'t�zsf qc,$D:l5DCc::> 
't c!l?:S>z:\1 eE:>. !)!)� 0toz:\1 zfir.,:, e,8co�21Sl'-' ®;:n'to,:,� D� (tl2Sl. dDl et.,:,c.,:, dD,c::> Sgc.,® "'"'�"' 

�%\1"'· 

C,Wtsl 'tlzsf0E)2S) c,8� C�� 88Z')®2S')'2S), 

A: Z')im - c�� 2 
B: ®;:ncjo,:,� l'®o 0tdz:\1 (tltsl - c�� 1 

,-- -

c: 0®® 0td152;:n er.o:>c.6:1 @c:, c1Dlo sgc.o� "'"'�"' et\1"'·- c2X12� 1

sa sg�c:5 e,wts) e,8� c.,iS Szs,2rlZ'). 

'. e,i6& eE:>o,c.,o e,80,�zs,c., e(OZ) t!1® tfS6t 2S'l� c!>c., 8�8 g)lU)zs,c.,2X120 �c.,/!)25\&c., ��"'-" 

c!>Oizfi eg�6?JS'ID, B e,w c e,c;w:1 c�� 1 @i<B2rl �� c�� 2 mr 0't2riZ'). 

Write down one method to avoid plagiarism when reproducing information 
from the Internet. 

e,,Dm d03£.32f! '9)2S)t® 021Sl26)o C?.15J� 2 882S'l®2f!2S'l. 

• c9c>:, 'tz1dD® I citing

• 00,Z') WzO 'tlzm!,® / quoting 

• ec.o,�E> 'tzzm!,® / referencing

[2]



(iv) I What is meant by ·becoming the master' and ·becoming the servant· rn this statement'! j i2j

u8d5c?:Sll3is) lSlJd¥Gi'>c.,u !ftiil@tiS g Be:> IS)Jd¥Gi°>c., dOJ�C.,J 0D. lSlJd¥6zc., �.fls-3<rl0cd fhE)
(.)CjlOJ csD ?:SlOG:ltl:S'f®c) lOJOlSlJ ?:SlE; a?S.!c.,, lS)Jd¥CJ,,C., af>{.fl <fOdc>,Ol:S'f� �E)ZS)C.,J @Oc) i,zsf0D.

"'°lS) �td00Z1 06� c�� 882S'le>�<S'l.

A: mJd¥.ci,,c., dOJ�"'J �e "t'°l�� �6® - c2112� 1 
B: lSlJd¥.ci,,c., 0d0l!n0C.,2:12 �® "l'°l�� �6EJ • Cal2� 1 
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